1/0 do/dA

Ratio to OPAL

133 GeV ee vy*/Z (Hadronic)
- ' | ' T | - T - . | , | , : . | . =
10° = -
10? = -
10 _
1 = m OPAL =
—  --+-- Pythia 6.424 d6t -
B Pythia 6.424 default _|
-~ Pythia 6.424 dw .
10! == —o— Pythia 6.424 p0 -
N . . . | | . . | | i
- ' ' ' ' | | | | | B
2 3
1 N f\ﬁ\(f r= M ]
— &/ \\7-————-_...._v.,_‘_,_,___,_____________________*__‘__‘______,,,,_____—_—-__,ﬂ ]
0.5 |
| . , . . L | | | |
0 0.05 01

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


